



B.B.A. DEGREE EXAMINATION – 
JANUARY, 2009

Second Year

QUANTITATIVE METHODS

Time : 3 hours
Maximum  marks : 75

Answer for 5 marks questions should not exceed 
2 pages.

Answer for 15 marks questions should not exceed 
5 pages.

PART A — (3 ( 5 = 15 marks)

Answer any THREE questions.

All questions carry equal marks.

1. Explain slack and surplus variables.

ªøP ©ØÖ® SøÓ ©õÔPøÍ ÂÍUSP.

2. Find the solution using North West Corner rule for the following Transportation problem.

	
	D1
	D2
	D3
	Supply

	S1
	3
	2
	5
	40

	S2
	1
	2
	1
	60

	S​3
	2
	3
	2
	50

	Demand 
	20
	30
	100
	


R÷Ç öPõkUP¨£mkÒÍ ÷£õUSÁµzx¨ ¤µa\øÚUS Áh÷©ØS ‰ø» •øÓ ‰»® wºÄ PõsP.

	
	D1
	D2
	D3
	Supply

	S1
	3
	2
	5
	40

	S2
	1
	2
	1
	60

	S​3
	2
	3
	2
	50

	Demand 
	20
	30
	100
	


3. Write the expressions for average number and average waiting time of the queue.

Á›ø\°À Põzv¸¨÷£õºPÎß \µõ\› GsoUøP  ©ØÖ® \µõ\› Põzv¸US® ÷|µzvØPõÚ Âvø¯ GÊxP.

4. Describe the steps in finding the Critical Path of a Network.

¤øn¯zvØPõÚ wºUP¨£õøu Põq® £iPøÍ ÂÁ›.

5. Explain the procedure of finding the saddle point.

\©{ø»¨ ¦ÒÎø¯ Põq® •øÓø¯ ÂÍUSP.

PART B — (4 ( 15 = 60 marks)

Answer any FOUR questions.

All questions carry equal marks.

6. Solve the following L.P.P. using simplex method 

Maximize 
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R÷Ç öPõkUP¨£mkÒÍ  LPP US ]®¨öÍUì  •øÓ ‰»® wºÄ PõsP :

«¨ö£›uõUS 
[image: image3.wmf]2
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7. Find the solution through VAM for the following Transportation problem

	
	D1
	D2
	D3
	D4
	Supply

	S1
	21
	16
	15
	13
	11

	S2
	17
	18
	14
	23
	13

	S​3
	32
	27
	18
	41
	19

	Demand 
	6
	10
	12
	15
	


R÷Ç öPõkUP¨£mkÒÍ  ÷£õUSÁµzx ¤µa\øÚUS VAM  •øÓ ‰»® wºÄ Põs.

	
	D1
	D2
	D3
	D4
	Supply

	S1
	21
	16
	15
	13
	11

	S2
	17
	18
	14
	23
	13

	S​3
	32
	27
	18
	41
	19

	Demand 
	6
	10
	12
	15
	


8. Solve the following assignment problem :

Machines 

	
	M1
	M2
	M3
	M4

	J1
	5
	7
	11
	6

	J2
	8
	5
	9
	6

	J3
	4
	7
	10
	7

	J4
	10
	14
	8
	3


R÷Ç öPõkUP¨£mkÒÍ JxURmk¨ ¤µa\øÚUSz wºÄ Põs

C¯¢vµ[PÒ

	
	M1
	M2
	M3
	M4

	J1
	5
	7
	11
	6

	J2
	8
	5
	9
	6

	J3
	4
	7
	10
	7

	J4
	10
	14
	8
	3


9. Solve the following game problem using mixed strategy.

	
	B1
	B2

	A1
	5
	1

	A2
	3
	4


R÷Ç EÒÍ ÂøÍ¯õmk¨ ¤µa\øÚUPõÚ  P»¨¦z wºøÁ PõsP :

	
	B1
	B2

	A1
	5
	1

	A2
	3
	4


10. Find the critical path for the following network.

[image: image5.png]



R÷Ç EÒÍ ¤øn¯zxUPõÚ  wºUP¨ £õøuø¯ PõsP.

[image: image6.png]



11. For the queuing model with 
[image: image7.wmf]3
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Find :

(a)
Expected waiting time of the system

(b)
Expected waiting time of the queue

(c)
Average number of customers in the system

(d)
Average number of customers in the queue.
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 GßÓ Á›ø\ Aø©¨¤ØPõÚ ¤ßÁ¸®  Â£µ[PøÍU PõsP.

(A)
Á›ø\ Aø©¨¤ß \µõ\› Põzv¸US® ÷|µ®

(B)
Á›ø\°ß \µõ\› Põzv¸US® ÷|µ®

(C)
Á›ø\ Aø©¨¤ß Põzv¸¨÷£õ›ß \µõ\› GsoUøP

(D)
Á›ø\°À Põzv¸¨÷£õ›ß \µõ\› GsoUøP.

12. Solve the following L.P.P. using graphical method 

Maximize 
[image: image11.wmf]2
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R÷Ç  SÔ¨¤mh L.P.P.  I Áøµ £h® ‰»® wºÄ PõsP
«¨ö£›uõUS : 
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